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17. x=2
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(1) -2x3-3x2

(2) x+2y
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(2) (X=y)*(x+Y)
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ZDAC =32°
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(2) FExl=a’+2a=1
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-~ APDF = APEG (HL)
-.PD =PE
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(2) PE=PD=2pPF —Lyxg-4
2 2

23
fift «
@

-~ ABAP = ACAQ (ASA)
- AP = AQ

(2)1%or.

-+ AQAC = APAB(AAS)
- AQ=AP

24,
figt -

@

6000 4 _ 8800
X 3 x+20
fiff3: x =200
(2) (30+40-10) y+0.8x10y > (1+36%)(6000 +8800)
fififg: y>296
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(1)-- ZABO=90", OB L AC

.. ZBAO =60

 ORZLELACH

- .BA=BC

. AABC 25514 =M JE

(2) ABAD = BCQ

.. Z/BCQ = ZBAD =60

-+ Z/BCA =60°

.. ZOCP =60°

.+ ZPOC =90°

.. ZOPC =30°

. PC=20C =18

(3)L M7EBH I

AOMH = AONC

.. ZOCN = ZOHM =120°

S RN SUB CHE H4Issh #8128 9
2 M{EHC I

AOMH = AOCN

.. ZOCN = ZOHM = 60°
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